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Multipliez les nombres décimaux par 10 100 1000

Nom:

3,351 x 100 =

9,953 x 100 =

7,72 x 10 =

1,64 x 100 =

7,792 x 1000 =

8,623 x 100 =

1,22 x 1000 =

4,246 x 100 =

9,746 x 100 =

8,486 x 1000 =

Date: Note:

8,647 x 1000 =

7,863 x 1000 =

2,623 x 10 =

3,721 x 10 =

5,419 x 10 =

4,58 x 100 =

1,361 x 1000 =

4,904 x 100 =

1,06 x 100 =

6,061 x 10 =
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Multipliez les nombres décimaux par 10 100 1000

Nom:

3,351 x 100 = 335.1

9,953 x 100 = 995.3

7,72 x10="77.2

1,64 x 100 = 164

7,792 x 1000 = 7792

8,623 x 100 = 862.3

1,22 x 1000 = 1220

4,246 x 100 = 424.6

9,746 x 100 = 974.6

8,486 x 1000 = 8486

Date: Note:

8,647 x 1000 = 8647

7,863 x 1000 = 7863

2,623 x 10 =26.23

3,721 x 10 =37.21

5,419 x 10 = 54.19

4,58 x 100 = 458

1,361 x 1000 = 1361

4,904 x 100 = 490.4

1,06 x 100 = 106

6,061 x 10 = 60.61
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